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31 The kids ate thelr lunch __ and rushed out to play soccer.
(A) on occasion (B) by and large © little by little (D) in no time
32 A democratic country grants basic human rights and freedoms to the people she _
(A) governs (B) invades (© overlooks (D) enforces
33 Paul has been unemployed for a month. His __ for a job has never paid off.
(A) arrest (B) charge ©) respect (D) search
34 Many developing countries have debts thataretoo _ for them to handle.
(&) huge (B minimal ©) tiny (D) flourishing
35 The __ amount you may withdraw per day has been lowered to $30,000. If you need more money, you will
have to come back tomorrow.
(&) negligible (B) maximum © plentiful (D) considerable
36  Nowadays few employees are __ to their company. If another company offers higher salaries, they will quit
the current job soon.
(A) sensitive ®) loyal ©) liberal (D) stable
37 Doyouknowhowto _ the coffee stain? I want to make my shirt clean.
(A) recover B rub © release (D) remove
38  You have to work harder; _ you won’t be able to keep your job.
(A) whereby B likewise ©) whereas (D) otherwise

i Y Iy 39~41 |

I wasn’t born and raised to be a Kyoto geisha. | wasn’t __ 39  born in Kyoto. | am a fisherman’s daughter from a
little town called Yoroido on the Sea of Japan. In all my life | have never told more than a handful of people anything at
all about Yoroido, or about the house _ 40 I grew up, or about my father and mother, or my older sister. | certainly
have not told anybody about how | became a geisha or __ 41 it was like to be one. Most people would rather carry on
their fantasies that my mother and grandmother were geishas and that | began my training in dance when | weaned from
the breast, and so on.

39 @ still (B) even ©) ever (D) been
40 (4 which (B) in which © of which (D) that
41 (4 how (B) that (© which (D) what
42 A Yourdrums are driving me crazy.

B: Sorry, | wasn’t aware of the noise.

A: That’s OK.

(4) Could you foot my bill? (B) Could you keep me posted?

(© Could you knock it off? (D) Could you eat your words?
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43 Man: Would you tell me where the train station is?
Woman: _
Man: It’s OK. Thanks anyway.
(A) Go straight, and turn right at the second traffic light.
(B) It’s within walking distance.
(© The train just left. You have to wait for another fifty minutes.
(D) Sorry, | am a tourist, too.
44 A: Do you know what time it is?
B: It’s ten to five.
A: _ I’msupposed to pick up my kids at 5:00.
(4 Count on me. B It is worthwhile. (© Oh, I’d better go. (D It is never too late.
45  Alex: | wonder what’s keeping Steve?
Winnie: Oh, | forgot to tell you. He is not going to show up. He called just before we left.
Alex: What kind of excuse did he give you this time?
Winnie: Something about his car broken again.

Alex: He doesn’t even have a car. He commutes everywhere by bike. The man is totally unreliable.
(A) | believe his story. (B) We should take pity on him.
(©) What nonsense! (D) Honesty is the best policy.

R 5757 46~50 f

Many US bird populations are in decline, some of which are even on the brink of extinction. Of the 800 species of
birds in the United States, 67 are listed as endangered or threatened; another 184 are listed as “species of conservation
concern” because they have small distribution, are facing high threats or have a declining population. Hawaiian birds and
ocean birds appear most at risk. More than one-third of all US bird species are in Hawaii. However, 71 Hawaiian species
have gone extinct since A.D. 300 and about 10 species have not been seen in the past 40 years. The declines of US bird
populations can be traced to a variety of factors, including agriculture, climate change, unplanned urban development,
and overfishing. In the grasslands, for example, intensified agricultural practices have hurt bird populations. Grassland
cannot support many birds if it is overused or burned too frequently. Besides, public lands and parks are mowed too
frequently and the grass is too short to provide a habitat for birds.

While many bird species are in decline, some other species are thriving. Research shows that wetland bird species
began to increase in the late 1970s, which reflects the importance of the artificial habitats to the survival of many bird
populations. The results prove that investment in wetlands has paid off and that it is now necessary to invest similarly in
other neglected habitats where birds are undergoing steepest declines.

46  What is this passage mainly about?

(A) Variety of bird species in Hawaii. (B) The decline of bird species in the US.
(©) The habitat of bird species in the US. (D) The need for stricter bird protection laws.
47  Which of the following is NOT mentioned as a reason for the decline of the bird population?
(A) Agriculture. (B Climate change. (© Harmful chemicals. (D) Overfishing.
48 How many bird species inhabit Hawaii?
(A About 70. (B About 120. © About 180. (D) About 270.
49  According to the passage, which measure can effectively protect bird species?
(A) To monitor bird migration. (B) To increase and preserve wetlands.
(©) To promote education in bird conservation. (D) To develop medicine that can help birds live longer.

50  Which of the following statements is true?
(A All of the US bird species are declining.
(B) Long grass provides ideal habitats for birds.
(© Mowing can help birds to build their nests.
(D) In Hawaii 71 bird species have disappeared for three decades.
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